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Walking Pythagoras Data Collection


Step One:  Marking the Triangle

· Find a straight line in which to mark the base of your triangle.  (Use a wall as your guide, find an existing line such as found in a parking lot if outside, etc.) If existing lines are not available, mark off a right triangle on the ground using the corner. 

Note: It is very important that the right angle

is accurate.

Step Two:  Determining the Roles

The three roles for the activity are:



1) Walker: Paces out the triangle                                                                          

2) Vertex #1: Stands on the spot where the walker has paced out leg #1

3) Vertex #2: Stands on the spot where the walker has paced out leg #2

Step Three:  Walk the Legs

· The team chooses a number for the length of leg #1. The walker takes the required number of steps chosen by the team.  This becomes the first vertex of the triangle.

· It is very important that the length of each step remains constant for all three sides of the triangle. In order to do so, the walker should proceed toe to toe. 

· The team chooses a number for the length of leg #2. The walker goes back to the vertex and takes the required number of steps chosen by the team for leg #2.  This becomes the second vertex of the triangle.

Step Four: Make a Conjecture

· The side of the triangle that connects vertex #1 and vertex #2 is the hypotenuse. First make a conjecture as to the minimum and maximum length that the hypotenuse could be.

· Make an estimate of the exact length of the hypotenuse.

· Record your conjecture on the chart. Leave the column “What Would Pythagoras Do?” for later. 

Step Five: Walking the Hypotenuse

· The Walker walks the hypotenuse and the team records the number of steps on the chart under the “Actual Hypotenuse”

· Remember that The Walker needs to walk toe to toe to ensure the validity of the data.

Rotate roles and repeat the steps so that each team member is the Walker once.  For each Walker on the team, new side lengths should be chosen.  Try more triangles if you have time! Make sure that you vary the look of the right triangle, i.e. close to isosceles or with very different length legs.
Record all of the triangles in the table below.

	Leg 1

Steps
	Leg 2

Steps
	Hypotenuse

Minimum
	Hypotenuse

Maximum
	Hypotenuse

Estimate
	Actual

Hypotenuse
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Walking Pythagoras Questions

1) How accurate were you on your ranges for the hypotenuse? What process did you use to you make your conjectures?

2) How accurate were you on your estimates for the hypotenuse? What process did you use to make your conjectures?

3) How can you use the measurements of Leg 1 and Leg 2 to make a conjecture about the range for the measure of the hypotenuse? Describe your team’s ideas.

4) Use the right angle below and mark off the legs so that they are 3 cm and 4 cm long. Fill in these lengths in your table on page 1 as well as your conjecture for the length of the hypotenuse before measuring the length of the hypotenuse.  Then with a ruler draw and measure the length of the hypotenuse and record this in the table.


5) Use the right angle below and mark off the legs so that they are 5 cm and 12 cm long. Fill in these lengths in your table as well as your conjecture for the length of the hypotenuse before measuring the length of the hypotenuse.
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 Complete Right Triangle Investigation before going on. 
6) More than 2000 years ago the Greeks discovered 

a procedure for finding the length of the hypotenuse. 

Credit for proving this is given to a man named Pythagoras. 

To use this procedure, you must first square the measures of 

the legs and add these squares together. The hypotenuse is 

the number that, when squared, equals the sum you found. 

Try this for the triangles you drew in steps 4 and 5. 

Pythagoras
Question #4 (prior page):
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Question #5 (prior page):
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7) Go back to each triangle in the table on page 2 and fill in the WWPD (What Would Pythagoras Do?) by using Pythagorean theorem for each triangle. How many of your conjectures were correct?

Name _________________________________ Date ___________ Period ______
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